DR. NERMINE ISMAIL AMERICAN SCHOOLS

GRADE 12 - PHYSICS PROBLEMS

LAWS OF MOTION

Use the following roles to complete the table:

V=Vo+at

S=Vot+1/2 at2

V2=Vo2+2as

No
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<
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o

No VvV Vo a t
1.7 2 2 4
2. |7 0 4 5
3. |7 10 2 10
4, | ? 10 2 20
5 17? 5 5 11
6. |? 10 9 10
7. |10 ? 2 4
8. | 20 ? 4 5
9. |30 ? 2 10
10.| 50 ? 2 20
11.| 60 ? 5 11
12.1 100 | ? 9 10
13.| 10 2 ? 4
14.| 20 0 ? 5
15.| 30 10 ? 10
16.| 50 10 ? 20
17.| 60 5 ? 11
18.| 100 | 10 ? 10
19.] 10 2 2 ?
20.| 20 0 4 ?
21.| 30 10 2 ?
22.| 50 10 2 ?
23.| 60 5 5 ?
24.1 100 | 10 9 ?
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DO NOT FOR GET TO DELIVER YOUR PROJECT
BEFORE THE END OF THE MONTH.

MR. AYMAN ELSANGARY



